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2
3 Model of Preferences Budget Constraint
4 U=fXY)=VvX-Y=10 I = 80,000
5 VX Y=10=>X-Y=10%> Py = 20,000
6 Y =100/X Py = 800
Slope of
Quantity of Indifference indifference Slope of the
7 good X Curve curve Budget Line budget line
_ _ _ LB K
X Y =100/X Y/X Y= B, B, b,
9 0 100 -25
10 1 100.00 -100.00 75 -25
11 2 50.00 -25.00 50 -25
12 3 33.33 -11.11 25 -25
13 4 25.00 -6.25 0 -25
14 5 20.00 -4.00
15 6 16.67 -2.78
16 7 14.29 -2.04
17 8 12.50 -1.56
18 9 11.11 -1.23
19 10 10.00 -1.00
20
21 .
Quantity of 100
22 goodY
23 90
24 80
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26 70
27
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33 20 Y =100/X
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U=f(XY)= VXV =10 I= 80000

VX Y=10=>X-Y=10*> Py = 20000

Y =100/X Py = 800

Slope of
Quantity Indifference indifference Slope of the
of good X Curve curve Budget Line budget line
I Py Py
X Y =100/X -Y/X Y_P_Y_P_YX _P_Y

0 =(SFS4/SFS6)-((SFS5/SFS6)*B9)  =-SFS5/SFS6
1 =100/B10 =-C10/B10 =(SF$4/SFS6)-((SFS5/SF$6)*B10)  =-SFS5/SFS6
2 =100/B11 =-C11/B11 =(SFS4/SFS6)-((SFS5/SFS6)*B11)  =-SFS5/SFS6
3 =100/B12 =-C12/B12 =(SFS4/SFS6)-((SFS5/SF$6)*B12)  =-SFS5/SFS6
4 =100/B13 =-C13/B13 =(SFS4/SFS6)-((SFS5/S5FS6)*B13)  =-SFS5/SFS6
5 =100/B14 =-C14/B14
6 =100/B15 =-C15/B15
7 =100/B16 =-C16/B16
8 =100/B17 =-C17/B17
9 =100/B18 =-C18/B18
10 =100/B19 =-C19/B19
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